3 Function Curve Fit

All Data Low Data - Polynomial Middle Data - Gaussian High Data - Log Power
] Y zl yl Tmid ymid zh yh
0.0923 3.39.10° 0.0923 3.39.10° 0.890 1.46-10° 0.93 1500
0.196  3.05-10° 0.196  3.05-10° 0.930 1.5-10° 0.952 6.6-10°
0.350 2.48-10° 0.350 2.48-10° 0.952 6.6-10° 0.972 3.5-107°
0.478 1.97.10° 0.478 1.97-10° 0.980 3.5-107*
0.584 1.48-.10° 0.584 1.48-.10° 0.986 107"
0.680 1.09-10° 0.680 1.09-10°
0.770  7.20-10° 0.770  7.20-10°
0.852 3.60-10° 0.852 3.60-10°
0.890 1.46-10° 0.890 1.46-10°
0.930 1.5.10° 0.930 1.5.10°
0.952  6.6-10°
0.972 3.5.107°
0.980 3.5-10°*
0.986 1077
Low Point Fit - 2nd Order Poly
fitl:=polyfit (z1,y1,2) xn:=0.0923,0.094..0.93
A A
3.6-10°+ 1.107+
3.2.10%+
2.8:10%+
1:10°+
2.4.1001 r
2.10%+
1 1
1.6-10%+ » y . ‘ 1.10° .y . «
1.2:100¢ fitl (wn) fitl (mn)
8:10°+
1:10%%
4.10°+ F
0 t t t t t t t t t t —
0.090.1750.260.3450.430.5150.6 0.6850.77.8550.94 °
—4.10°+ 1.10%+
().‘()SJ(],1‘75().12(3() 2;4?1),;13().315(]1(;‘ [),(;Sfi).%ﬂ).és;:'{iJ.f‘J'-i -
xl n xl
“Term” “Coefficient” “Std Error” “95% CILow” “95% CIHigh” ¢“VIF” “r” “p”
olyfite (a1, y1,2) = “Intercept” 3.7271-10° 2.9006-10* 3.6585-10° 3.7957-10° NalN  128.4935 2.2804-107
por | “A” —3.3862-10° 1.2823.10° —3.6894-10° —3.083-10° 22.2808 —26.4064 1.4298-10°
“AA” —6.8663-10° 1.1941-10° —9.6898-10° —4.0427-10° 22.2808 —5.7503 0.0003

Middle Point Fit - Gaussian Model

Qg 1.6131796 - 10° b’
bnia | = 8.831593287 107" o Tret | xnmid = .852,0.853...952
Crmid 1.53137684 - 1072 fit2 () 1= apiq -
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1:10%%
1:10°%

1.10* ;

ymad
° «

fit2 (:cnmid)

l-lu‘E )

1-10%%

1-10+

»
>

0.85 0.86 0.87 0.88
rmai rnmae

Ugf) 0.9 0.91 0.9 0.93 094 0.95 0.96
] [ J

Low Point Fit - Logisitic Power

Q= 6.6102964 biow = 9.6299766 - 10" Clow = 5.626899 - 10° am:=0.93,0.931..0.986

fit3(z):=

1-10% \

1.107 14

yh

1.107 fit3 (zm)
1.107°

11077+

»
»

0.93 0.9355 0.941 0.9465 U,ﬁhz’)i! 0.9575 0.963 0.9685 0.974 0.9795 0.985 0.9905
Z

Butterworth Filters

Startl:=0 Start2:=0.89 Start3:=0.979 End:=0.986

half-width center

2 — 1 1 2
o= Start . Start = 0.445 bl e Start ;—Start

c2 :M:O'OME’ b2 ::M

ey End — Start3 _ Start3+ End

=0.445
=0.9345

=0.0035 b3: =0.9825
ratio n's by half-width
nl n

2 .
nl:=200 n2:=round (W , 0) =20 n3:=round (m , 0) =254  Keep n even or else you divide by zero
C Cy
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n2:=20
n3:=2
1 1 1
1(xz):= 2(x):= x):=
f1(=) _ £2(a) L £3(2) =
r—bl T —b2 r—b3
14— 1+ 1+
cl c2 c3
Fitd (z) = f1(z) - fitl (z) + f2 (z) - fit2 (z) + f3 (z) - fit3 ()
2
=(= = bmid)
1 5 1 e 2 1 Ao
Fityy, (¢) :=———————+ (—6.8663 - 10° + 2* + —3.3862-10° + 2 +3.7271:10%) 4 — . |a,yre > |4 ] !
1 nl n2 n3 Clow
r—bl T — b2 x — b3 1+ i
1+ 1+ 1+ b
cl c2 c3 low
zx:=0.09,0.0901..1
A
1.107
1-10°
1.10*
1-10?
! Yy
» . L}
11072 X
Futyy, (mm)
1.107*
1.107¢
L
11078
1.1071°
9102 18107 271070 3.6:1070 4.510"" 5.4.10" 6.3.10"" 7210 8.1.10"" 9.0 | 9.9.10°! 1.08 .
A
3.5-10°
3.15+10°
2.8:10¢
2.45+10°
2.1:10°
Yy
1.75+10° ’ . .
1.4+10° Fitfm (J::c)
1.05-10°¢
7.10°+
3.5-10
0 , , , , , , , , , ) , >
9107 1.8.107"' 2.7.107' 3.6.107' 4.5.107! 5.4.107' 6.3.107' 7.2.107' 8.1.107' 9.107' 9.9.107'  1.08

x T
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1-107

1104

1-10?

1.1078

1.10710+

v

9-107"

9.1.107* 9.2.107" 9.3-107" 9.4.107 9.5.107! 9.6.107" 9.7-10~" 9.8.107" 9.9.107!
T TTr
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